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Please make sure that the printed question paper are contains 18
questions.
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The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.

o ghEreff STy U To FIT-YF YT S7q9T i@

Candidates must write their Roll Number on the question paper.

o FyI g9 F TG @7 @ {d I8 GARETd & T & geT-v7 g 7 & 8 gher 3
GYIT 59 T F g A qrar e TE R wam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.
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(i) 5T Fo7-07 7 §T 18 F97 &, ) qX @Sl - A, §, @ T T F 9w &

(i) @& - & & §97 q&g 1 ¥ FRE (i-xii) 97 & 75 @ () & (viii) TF
JElAFHT T (ix) @ (xii) T& TEGITS JHN & F97 &1 JA% F97 1 5% F
&/

(iv) @€ - § 7 gJ97 F&77 2 @ 10 7% SHT-TGANAE J97 &, A% & 2 9% &/
(v) @E -| 7 557 G& 11 & 15 T% TEAIAE J97 &, 4% % 3 7% &1
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(vi) G8- § F g7 T 16 @ 18 7% FF FTUHE J97 &, 9% & 5 7% &
(i) T G FaeIeTE FoT 7 oaikE g Iy &1 Q7 FeW 7 @ oIvE BT
g% & 797 e 8

General Instructions :
(i) All questions are compulsory.

(ii) This question paper contains 18 questions, which are divided into
four Sections : A, B, C and D.

(iii) Section — A contains question number 1 having twelve (i-xii) parts, in
which (i) to (viii) are multiple choice type and (ix) to (xii) are objective type
questions. Each question carry 1 mark.

(iv) Section — B contains question numbers 2 to 10 of very short answer

type questions and carry 2 marks each.

(v) Section — C contains question numbers 11 to 15 of short answer type

questions and carry 3 marks each.

(vi) Section — D contains question numbers 16 to 18 of long answer type

questions and carry S marks each.
(vii) Internal choice is available in all long answer type questions. You
have to attempt only one of the given choice in such questions.
gue -
SECTION - A

(gfrs 5e)

(Objective Type Questions)

1. () =l & @ $9-8 fla 7 s S99 Sg s e e ! 1
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A) T
(B) &7
(C) &m=T
(D) AT

In which of the following organisms, asexual reproduction occurs
by gemmules ?

(A) Paramoecium
(B) Sponge
(C) Hydra

(D) Penicillium

(i) Hed BN PR BT MU WX & QY ¥ feiied § @ de-w fa9ws
T B ? 1

(A) SISt & diem 3T
(B) el @ GiAT T
(C) B & & T
(D) ST &M T BN

Which one of the following trait of pea plant studied by Mendel is

recessive ?

(A) Yellow seed colour
(B) Yellow pod colour
(C) Violet colour

(D) Round seed shape

(i) FEfRed R IR @3 T & &H-|1 Stargell § d@XeMs X OF T qo
EIEH %l TXE B HAT © 7 1
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(A) 5S M AR T T

(B) 23S ¥R R TF T
(C) 18 SN R TT T
(D) 5.8 SR X T T

Which of the following rRNA acts as structural RNA as well as

enzyme in bacteria ?
(A) S5 SrRNA

(B) 23 SrRNA

(C) 18 SrRNA

(D) 5.8 S rRNA

(iv) ST &R g8 fhee yeRia e & offed e @ fReme sfes | @ Y a
g7 1
(A) SR
(B) BT
(C) T TR
(D) ST
Through experimentation, who demonstrated that life comes only
from pre-existing life ?
(A) Oparin
(B) Haldane

(C) Louis Pasteur
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(D) Darwin

(v) Ffartad & & 99 J&M & I SR HAE-a1 5 ¢ 1

(A)  @rTFIar
(B) &ifirrer $7geer
(©) gFRar
(D) T

Which one of the following is a pathogen of common cold ?
(A) Salmonella

(B) Haemophilous influenzae

(C) Wuchereria

(D) Rhinovirus

(vi) o # I S 39 gl ordame BN e @ 9Ra # faslia e

Y 1

(A) T

(B) 98 X -8

(C) TR Afea - 1

(D) &AM FIF

Which high yielding semidwarf variety of rice were developed in
India ?

(A) Ratna

B) IR-8

(C) Taichung Native - 1
(D) Kalyan Sona
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(vii) mewmﬂ%ﬁwmaﬁﬁﬁmm%?
1

(A) S

(B) gl

(C) &

(D) et

Bacterium, Lactobacillus is used in the preparation of edible
product :

(A) Dosa

(B) Idli

(C) Curd

(D) Toddy

(vii) T fasgeardl I@Rm & fU FeT SEefiFEEs & ANfs aeeE A g 7
1

(A) 20%
(B) 14%
(C) 60%
(D) 6%

How much is the relative contribution of carbon dioxide to total
global warming ?

(A) 20%
(B) 14%
(C) 60%
(D) 6%

(ix) Sal & U 99 9 TaTH § 7 1

Why is reproduction essential for organisms ?
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(x) fafreea d@nvdar ammoe R e B 7 1
What is medical termination of pregnancy ?

(xi) SRR fhE wed & ? 1
What is aneuploidy ?

(xii) afRc= § fReq ot fF9 Feq B ? 1
What is standing state in an ecosystem ?

gug - §
SECTION- B
(SHfr-crgEeTs 9 )

(Very Short Answer Type Questions)

2. T ARY T FUE & Hg 7 T B 2

Mention any four features of an ideal contraceptive.

3. SiEl § geaedy @eE @ e § ¢ 3 R SeR % e & e w8 7
2

What are analogous structures in organisms ? State the kind of
evolution they represent.

4. SR % A BRI § & Haud F91 eIl & ¢ 39 HINwHel A 39 IO &
A 8 I T FT IR B © ¢ 2

What is contact inhibition in the normal cells of the body ? What are
the consequences, when this property is lost by these cells ?

5. HARME & id: IO B T @ & 7 gad o Ad: Yo @ Hash gufe fad
Y g il & 7 2
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What is the advantage of inbreeding in cattle ? How does continued

inbreeding affect the cattle population ?

6. & F 3 % 1 e 39 SE] B A TE AR BEE g8 S 8, W I
HATET HIA el BT H AR 0T & 7 THIARY 2

Why does the Bt toxin not kill the bacterium that produces it but kills

the insect that ingest it ? Explain.

7. eI #& Bl ¥ 7 39 gfe URERE FRAT B UH IS O § 9O Th
STgat & i 2

What is commensalism ? Give one example of this population

interaction from plants and one from animals.
8. HYx § g HE F R U I F Al & ¢ EHIET 2
Why is pyramid of biomass in sea generally inverted ? Explain.
9. S fafaed & dxewr § ufes IuaHl @ g TR 2

Explain the role of sacred groves in conservation of biodiversity.

10. e S & Qe g fHH HROT G BT & P Y ST 6 SHR gwiad
A ® ? 2

What is the cause of algal bloom in a water body ? How does it affect

the water body ?
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12.

13.

14.

15.
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gils -9
SECTION- C
(e 99)
(Short Answer Type Questions)
FThee] HigM & IR ¥ fafeg 3

Write about Klinefelter's Syndrome.

RIS ATy T & P 3 SN IR § B el B § 7 3

What are methanogens ? How do they help to generate biogas ?

3w U B fou P Bt § & R o /& FeT S § 7 shar] S &
S O U (qhe) Aok o 9T 3 e SR |eW S S @ 3

Why is it difficult for DNA to pass through cell membranes ? How is a

bacterial cell made competent to take up DNA (plasmid) ?
IR FAH Tl A rDNA S B SAFE S AT Sge SdEd §
fope T S febam ? 3

How did an American Company Eli Lilly use the knowledge of rDNA

technology to produce human insulin ?

UH % OO & S g H @ g9 8 Ih 8, Weg [iean’l § $EH W@ S W@ B

There and many animals that have become extinct in the wild, but

continue to be maintained in zoological parks.
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(i) 9 AFa & 6 TR @ Sia fafger S S @ o g

What type of biodiversity conservation is observed in this case ?

(i) OF PIT & T qUD THART I 30 TR B GO § TEal L ol
Explain any two other ways which help in this type of
conservation.

gug - g
SECTION- D
(S ST ue)
(Long Answer Type Questions)

16. Yl URY § & S AT HIH § GRUE HUHY g1 H OGS H aes 9o
EAIE LY 5

With the help of diagram, describe the formation of embryo sac from

megaspore mother cell in a flowering plants.
Fgqr
OR

() U gl URY & & SSOEFl Bl HC B ARG FAEY TG I 08 g4,
dISUS &R, SISUS %A TA1 OB I THiB HioQl 3

Draw a diagram of a section of a mega- sporangium of a flowering
plant and label funiculus, micropyle, nucellus and embryo sac in
it.

(i) O FEMH T H AWM TARY T REECT & AT A BN AT HT B
IE TE TR & [0 fhe TR ST B 7 2

Name the organic material exine of the pollengrain is made up of.

How is this material advantageous to the pollen grain ?
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17. HET A9 H Sl § TSI & [ @ Uik i avie et 5

Describe the process of development of an ovum from an oogonium in

human female.

g
OR

Hrar & fafr wéMl § A g WREdS & @9E 8N an J9@ HeAtel & 9o

I 5

Describe the various events in human embryonic development at
various months of pregnancy.

18. ¥ U7 T AJaR™ T &, 3% aR § GER Y JHO e Rar o ? o e
5 JART H U i 5

Who gave unequivocal experimental proof that DNA is the genetic
material ? Describe their experiment.

AT
OR

NGTES doT Wed % YT &1 9491 3899 T ¢ 9q13U Ud 3G o9 Hiee 5

State the aim and describe Meselson and Stahl's experiment.
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